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2N
X ZH -
L= B

el

nsHI
SN UEHH FA(+82WE/HEWE - 2R SIIE
NEH(ZEANLSASESZAH)

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
11IIEtEA S 5,000 5,000 0
O Ust=2r AL HRAL ADE 2
5,000,000& * 14! 5,000
BHAIMEALY B4 XA 300,000 300,000 0
301 L2 A= 300,000 300,000 0
1M1IIEBEAS 300,000 300,000 0
OHAIMEAY SA X2 300,000,000& * 14 300,000
DEHE XHgH 2el 108,049 96,046 12,003
101 14 dl 15,039 13,096 1,943
4 D12t ZE2EXRHEES 15,039 13,096 1,943
OLEiE M g2 LdAAIG 2 15,039
cJIEg= 42,0003 = 1% = 250 10,500
oxFFd 42,0003 * 1% = 50 2,100
oIt 42,0003 = 18 » 11 462
SAAAZEE 7,320& * B60AI2+H =1H 440
c4HEH 1,537,000& * 14l 1,537
201 L2l 78,370 78,310 60
01 At 22l 14,600 12,900 1,700
OULHE HMEHLR S22 MH
1,500,000& * 2& 3,000
OMgxdezad gdd 2g  100,0008 » 1& 100
ORSMYUE U LA Eetaaz
3,000& = 1000H 300
OYsEII A A3 2L
100,000& * 12& 1,200
OfsEdX 2E =& =cltl
20,000& = 504 1,000
OHlg S=1XAN Z X2 24t
60,000& = 108t x 123 7,200
OARSA tH 2t 0l & A (SQLCAL 2012)
1,800,000& * 14l 1,800
02 =224l 63,770 65,410 A 1,640
OlHE SETNXAN L& REZ
270& = 100,000 27,000
QU s dEIIEHR =8
200,000& = 12# 2,400
OLAXNANMESEI RAE = 150,000& * 33l 450
OHMYCHLHSMSZ 018 ==
203 = 5002 + 123 120
OBMSEHIAIANAE RAE 2|
350,000& * 123] 4,200
OHE AMEFIZTMAAE X2
300,000& = 12& 3,600




SH: DEHEDY
Ha: CAX DSHM =X (+SLDS/HEDLS - 2R SIIEH)
SR DS (SSADSASSEE) (B9 ®R)
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
SFEERSIEEEVETE]
1308 * 50,0002 6,500
ODENE MULRA2AANAEY OIEE
8,500,0008 * 14! 8,500
OMSHHEH 2L R OHHAIA Y 2HUHE +42
500,000+ 128 6,000
OBDENR ARSEROL JIAHNMAIAL ST+
1,250,000%4 )| 5,000
202 01t 4,640 4,640 0
01 2Lholbl 4,640 4,640 0
OBLADAHEY R J 40|
10,0002 * 29§ * 43| 800
OvisoYx L MYATL 2H0fHl
20,0008 * 2% * 8 * 128 3,840
207 1T IH L bl 10,000 0 10,000
02 &t eyl 10,000 0 10,000
OBDENR ARS OHLHAIAE JHOINE 253 |
10,000,000+ 14! 10,000
M Fats Rl 103,152 100,914 2,238
101 @121l 41,950 39,957 1,993
04JIAH22RNSES 41,950 39,957 1,993
ONgs=gzel LAdoRy 41,950
°J123 42,0008 * 3% * 2302 28,980
oFgLY 42,0008 * 3% * 462 5,796
o4 42,0002 * 3% * 11 1,386
SANAADRAL  7,8808 * 22 * 50AI2 788
SUEE 5,000,0008 * 14! 5,000
201 2LEr2 bl 61,202 58,457 2,745
01 At 22l i 27,792 27,792 0
OHBANREE 870,000% * 122 10,440
OS=2@ 25 AMS 10,000,008 * 14 10,000
ONSASEE I S ELSHE
2,500,008 * 2% 5,000
OXYS=YL 22N A
7,000 * 7% * 32 *12% 1,764
ONYSSUAL HIF FXPY
12,0008 * 2% * 128 288
ONSHSSHY YUY 7Y 50,0008 * 62 300
02 B2l 33,410 30,665 2,745
OS=2Y 243 o2es W2
1,002 * 1,2008 * 128 27,360
ONYSEALLSLN HYZH 22
10,0008 * 79 770
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2M nsSHF
H: CAX WS FHA(+SLDNE/HERS - SFSIIEY)
Cel A2 (ZEANNSALSEFA) (Sl & &)
S2A-ZH () - HRAY - BES Ofl & oH %Ei Hn&s2Z
401 Al I 28I 270,000 260,000 10,000
01 A& HI 265,000 255,000 10,000
Ounstlss4dxl 40,000,000& * 14! 40,000
OL=FHMAHI A 7,000,000& * 5044 35,000
OZ8&s &X 10,000,000 = 1JH 2 10,000
OLEDw S E X & &X| 3,000,000& * 5JH A& 15,000
Od3Il |RANE= 120,000,000 * 14 120,000
Otls Asst Ex=3 At 20,000,000 * 14 20,000
OO WEsASI| HXBA
2,000,000& * 1000 A& 20,000
ORLMAHEX &X 5,000,000& * 1JH A 5,000
03 A& =2 THHI 5,000 5,000 0
OnSNSSEX ANEL2UYI
5,000,000& * 14! 5,000
NEH DNEHH AEH(+SLNE/UERE - 2RSS 1,349,599 1,223,126 126,473
EH)
e 2 (LYSADSAYSLESIH) 420,045 356,010 64,035
EYFEX 22 420,045 356,010 64,035
101 @124l 48,313 46,316 1,997
M4 JI12ZHZEXNSES 48,313 46,316 1,997
OF2AXNE FIUHEF SAAMGNRY 34,391
cJIE=s 47,6003 * 2% = 230 21,896
o Al2tel =g 8,930& * 150AI2t = 29 2,679
ocxxgg 47,6003 * 2% » 46 4,380
ocHIxY 47,6003 * 2% » 11 1,048
c4HEH 4,388,000& 14 4,388
ORogachs AAALLZ 13,922
cJIE= 42,0003 = 1% = 230 9,660
oFxsad 42,0003 * 1Y » 46 1,932
ol 42,0003 * 18 = 11 462
AN EH 1,868,000& * 14 1,868
201 et | 181,932 154,894 27,038
01 At 22l 20,752 19,154 1,598
OFXe=3 ISl 500,000& = 109 5,000
ORI FAaA ctx2 T=H  150,0008 * 3% 450
ORolthx U AQXR2Y Sl
7,000& * 7H * 8L x 12& 4,704
OCusZHo s2=H% 5,000,000& = 14 5,000
OFINAUSVEHZOXNNL M SHE
4,000,000& = 14! 4,000
OROINHAAZTERON 2
47,0003 * 3404 2 1,598
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nWEH
HzH: Q2tSZA WNEESH PF(=sLIE/HWESVNE - S FSIIE
SR YU AL (LEADNSALELESH) (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
02 2324 161,180 135,740 25,440
OR0I3t0et AlEAEH |XH|
180,000 * 34014 = 12€ 73,440
OR&I| & ACEH RKAXH
3,000,000& = 14l 3,000
OEAMNBYR T2 A2 (28)
550,000& » 12€ 6,600
OXERAH(BEE2, £&4H )
300,0008 = 6CH  12& 21,600
OXE SIHI (=X, S M, AIIEAE)
200,000& = 6CH ~ 12€ 14,400
OFEXRE MHES g5 QES
1,930 * 1,500 ~ 12€ 34,740
OgloletdnN=Es I
2,000,000& = 14l 2,000
OREANDS 2g+Y
70,000 * 4% x 53| 1,400
OuUSESAMINZI2s2ERY
2,000,000& = 14l 2,000
OR2HerXIXtg HXH X2  200,000& = 1004 2,000
202 04| 22,800 22,800 0
01 2L Y| 22,800 22,800 0
OSAMNEIR L AIgH 22 S&EHH
100,000& * 49 * 123] 4,800
OFYISES BUEHOI
150,000& = 10¥Y = 12& 18,000
301 et A= 5,500 5,500 0
09 #HAIAHI BEAZ 4,000 4,000 0]
OuUNSSAIE0F #HAZENH X
200,000® * 5% x 43| 4,000
11 J|EtE A= 1,500 1,500 0
OuWsSAMIHEEESsSHH T=H X3
300,000 = 5H 1,500
305 HHAZ2 S 2,500 2,500 0
01 HIAZ2SS 2,500 2,500 0
OXHAHQ 3= Hia=2 2,500,000& = 14! 2,500
401 AlEHIZ 201 Y| 159,000 124,000 35,000
01 Al&H| 159,000 124,000 35,000
O=R92IItHet &X 40,000,000 = 200 A 80,000
ORoSEIHe dsHd
10,000,000& * 4CH 40,000
ORoSEIH et AEE
1,000,000 = 10CH 10,000
OFEIIZXNEXT HH| 4,000,000 = 14! 4,000
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SN DEHEDY
FM: QAFY WESHZE IF (85X NS/HENS - EFRSIIE)
el DESEd MAS(ZAEANDEMLSESH) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
=Jl2g 53,200& * 2% » 60 6,384
ocxFFgag 53,2003 = 2% = 10 1,064
olitsg 53,2003 * 29 » 2« 213
c4UHEH 1,200,000& * 14l 1,200
201 LBH2EH| 6,000 6,000 0
01 At 22l 6,000 6,000 0
OAMUHA TRAIZE HEl (&)
6,000,000 * 14l 6,000
401 Al I 28I 164,000 210,000 246,000
01 A& HI 164,000 210,000 A 46,000
OsZd& KX 2=l 50,000,000& * 14l 50,000
OsZTEX & =FAELEuH
10,000,000& * 5 A& 50,000
O2018= Al Z EHI0 HE s2E &X
64,000,000& * 14 64,000
WSUHTAIE X & 22 156,464 139,984 16,480
201 LBt2E| 23,964 22,984 980
01 At 22l 17,964 16,984 980
OusotdAd2es A28 2
10,000,000& * 14l 10,000
Ounsetd 222 M= 2,000,000 = 14 2,000
OLSHEAE Gt =4
7,000& * 4H » 9 123 3,024
ODSYBEANLAAS BHLS
70,000& = 7¥ x 63l 2,940
02 8323l 6,000 6,000 0
OANE&EHSXE =&8=XH 500,000 » 12& 6,000
206 M= Hl 25,500 10,000 15,500
01 =8l 25,500 10,000 15,500
OxXzXAs 7 30,000& = 5004 15,000
ORLEJ EXE g 50,000& = 504 2,500
OXZ2XASHHZLY 10,000& * 800K 8,000
5 a2 S 2,000 2,000 0
01 HH&a=E 2,000 2,000 0
OUSAIZ=0l 28t 2120l 2A X =4l
2,000,000& * 14l 2,000
401 Al I 28I 105,000 105,000 0
01 A& Hl 105,000 105,000 0
OXNZRHES X SA 10,000,000& * 14 10,000
OQusotdHEX & &X 20,000,000& * 14l 20,000
OuUsSeHEAME RARE= 50,000,000& * 14 50,000
OO0lHE==Z2XHH|I (LS &) 10,000,000 * 14 10,000




2A NS
HE: QUZN DEHY PH(LSUYDE/HERS - 2RSIIE)
el DESEd MAS(ZAEANDEMLSESH) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OgetdZsS WHIA 1,500,000& * 100H A& 15,000
ol Bl Bl 414,397 331,881 82,516
801 ailbl bl 414,397 331,881 82,516
01 oildl bl 414,397 331,881 82,516
Ouldl sl 414,397,000& = 14 414,397
HY2IZH (LSHF M) (IIEH/IIEL) 184,226 168,221 16,005
ClIHARAH(LEANNSALSESIA) 184,226 168,221 16,005
ol 2| 184,226 168,221 16,005
101 1A bl 184,226 168,221 16,005
03 RIAHAAZZRHE > 184,226 168,221 16,005
ORolctsaratal 2214 A 100,542
=lleg 1,249,600 » 398 » 1201 = 44,986
oJ|¥=g 1,249,600& = 3H * 400% 14,996
oIt 69,6993 * 3% x 25¢ 5,228
oZ AU A 160,000& = 3% = 12013 5,760
o H A F | 1,249,600& » 39¥ * 120% 4,499
ctE=¢ 80,000& = 3¥% » 123 2,880
ocXtHSHIEE+E 419,008 * 38 * 43 5,030
oAZ2t22E 87123 * 3H x 150Al2t 3,921
cIlEH4UEES) 13,242,000& * 14 13,242
ONSANEELX 22X Q12| 83,684
=JIE= 1,309,440 * 298 » 128 31,427
ol|Zg 1,879,440& » 29¥ * 200% 7,518
oM & et 1,879,440 * 28 » 250% 9,398
oc¥I2g 1,879,440& » 298 * 100% 3,759
o Z A G A 160,000& * 2% » 12& 3,840
o JHH 2 =4I 110,000& » 298 » 128 2,640
o HEFIHH| 1,879,440& * 28 = 120% 4,511
oIt 140,000& » 298 128 3,360
cuwsSE x| 140,000 » 294 » 12& 3,360
It EE 80,000& = 2% = 123 1,920
cA22RE
12,9602 » 2 = 10AI2H = 128 3,111
<JIEtH4UEES) 5,000,000& » 14! 5,000
cExHRRY 90,000& * 2% » 12& 2,160
o XA SE 70,000& = 2% » 123 1,680




